D0 MYRID/T VPRI ORI 7210 noon M AT TIOY Y BT

6.3.8
36b (n xwp) 2 37b (75190 m121 12037 29817)

20,27 8777 11D 1YW HRIYID NIRD Y2 DN NYIV 12WD NP2
1,7 o0y $INII NIV NVYY NIAY PY 'Y DINN 9P DTN 29V 1NY PY 0991 1T 9P IRAD) 1070 IRN...
2,8 3pw2 VI MYRM DTN YiN2 N2702 YR 1RV PP DTI NOY 198 12702 JNR

.07 22792:72R2 IR NP IR K702 IR DY YHN YY) DY P IWR NIYOIN YY1 090 Y2 591 YIRD HY NIMY 1IN0 WR DN H20) 23R NRY)
7,02 72702 99 YR DN DN 1YY 1NN NRVND NIV 9N RNVY NP

L nmwn - parameters of 25190 TR
a. 77t must use palm to bind a%% (yn)
i. &a7since " holds that Tar 79 259, a different type would be a violation of 4o 52
ii. 37 he may use any part of the tree — even inferior
1. Proof: Rma (interpreting v1) where n”1 and nmn "1 disagree about material of 720
a. /2”7 may use any material (NRmV 2PN WR ,YpIp 1)
b. /M ’1 may only use D0 "7
i. Argument:1"p from 1915, which only applies during day
ii. Retort (n™): this is a v"p that leads to a R9p
1.  Meaning: if he doesn’t find 12915 for 720 — has no 2o
iii. Proof for #77. v. 2 — they use other trees for 720
1. ama 7. others are for walls; Dnm o711 %Y for 700
2. Proof: :R N2 — N’ " permits using boards > other parts of Wnn are usable
3. Challenge: to contention that N> 1 only allows o>»n 1 for 750
a.  ~p772 " and n” disagree about cedar boards less than v"1 wide
i. Note: n™ agrees that if there is the same space as width — w2
b. Defense: n'mn» ’1’s “rIR” is 010, per v. 3
b. »”r may even use twine or rope
i. Support: n™ relates that m9w11 P> once bound their 07a%% with gold strips
ii. Retort: they bound them with palm leaves underneath the gold
II. 4 disputes between n17 and X171 about 2%% n%01 mxn (tangents to n™’s report about 0V *7p?)
a. /727 instructed Xm? w™’s workers who bound the 2915 to leave a spot unadorned to hold - to avoid nx»sn
i. aa7if itis an adornment —not a n¥’xn
b. /727 instructed people not to take 259 by wrapping turban around hand; required nnn nnop
i. a7 taking via a medium is not a failure of nnn NP9
1. Proof: from R:2> 019 (in spite of v. 4) and R:1 79 (in spite of v. 5)
c. 717 don’t stick the 2% into the TR — leaves may fall off and form a n¥'xn
i N27P¥INIPRIIPA PN
d. 737 don’t trim a 2%% while in the Tar — leaves may fall off and form a nx'xn
i N27P¥INIPRIIDA PN
III. 3 more rulings of na1 related to wrn 7
a.  /7n27 may not smell 077, may smell »nx
i. Reason: v1n only has smell >when he set it aside for mxn, “removed” it from smelling
1. But: nInR is also (primarily) eaten 2 only “removed” from eating
b. naw. permitted to smell a 92700 ©TA, but not 91NN NINR
i. Reason: if we allow him to smell the vTh, won't cut it — no further nRin exists
1. But: if we allow him to smell mInR, may cut it to eat
c.  Holding o’rp 7. n2391 ©10 ,27% in right hand, »nR in left
i. Reason: the 3 »yn go in right
d. Tangential question (i7p7’ "1 asked xp»7r 7): we is the N71 — a%NY nHv1 HY?
i. Answer: since it is the tallest and stands out
ii. Challenge: why not lift the 20 higher and say »Inx nb1 9»?
1. Answer: the species of 2917 grows taller
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